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A BEEZAR— LY Z—R—MNRIE h—TUERIERE

NO HEIHT B op & EATEK FARAIR1E H x W(cm) e
1 |BEEIE BERERSEE A—JLRY—> = 8 |RATVINL—T 600 1910
2 A—JLRYY)—> = 1 RATYIIN—T 500 1460
3 A—I)LRY)—> = 1 RATIIIN—T 600 2500
4 ER T A—JLRY)—> = 1 RATYVIIN—T 1430 3460
5 A—)LRY)—> = 32 |RATVIIN—T 1140 3460
6 A—JLRY)—Y = 1 |RATYIN—T 845 3460
7 A—)LRY)—> = 1 RATVIIN—T 1095 3460
8 FEEHE A—JLRY)—> NZE 1 RATYVIIN—T 1500 1500
9 A—JLRY)—> N&E 1 |RATYIL—T 2000 1500
10 h—Tv Ay aftE LY 1 RBEE 3500 2350
11 TFEKRE h—T> AysaftE A0 1 REE 1500 2350
12 RIVTATE h—Tv Ay aftE LY 1 REE 3500 2350
13 A—)LRY)—> = 1 RATVIIN—T 1700 1460
14 BENEIREER A—JLRY)—> = 1 RATYVIIN—T 1200 2500
15 FlE=E A—JLRY—> = 1 |RATYIINL—T 1200 2500
16 HEE h—Tv L—X = 1 |(ERE 1500 1660
17 HE=E h—F AyiaftE LIy 1 |(ERAE 2500 2350
18 [RCE1BE  TAY—EXEVE— h—Tv FL—7 = 1 MmBAE 2000 2600
19 h—T> L—X = 1 mRE 2000 2600
20 h—Tv FL—7 = 2 |ERAE 2000 2060
21 h—T> L—X = 2 |mpAE 2000 2060
22 h—Tv FL—7 = 1 |(ERE 5600 2060
23 h—T> L—X = 1 mRE 5600 2060




HRIEEE AN R— LY Z—R—MNEE

h—TUolEmILHRE

NO HEIHAT o B op & EATEK FARAIR1E H X W(cm) e
24 [RCE1BE  TAY—EXEUE— h—T> FL—7 = 2 |mEBAE 4800 2060
25 h—T> L—X = 2 |ERAE 4800 2060
26 EErES A—)LRY)—> = 1 |RATYIINL—T 1600 1760
27 BEI—F— h—Tv Ay aftE LY 1 RBEE 3500 2500
28 BHE A—)LRY)—> = 2 (RATVIN—T 1600 1460
29 B E B A—JLRY)—> = 1 RATYIIN—T 1600 1460
30 ISHEE =T FL—7 = 1 MmBAE 1800 1660
31 h—T> L—X = 1 MmBAE 1800 1660
32 [ h—T> FL—7 = 1 |mEkAE 2000 1660
33 h—T> L—X = 1 MmBAE 2000 1660
34 [V h—T> FL—7 = 1 |mEkAE 2000 1660
35 h—T> L—X = 1 MmBAE 2000 1660
36 EH=E A—)LRY)—> = 1 |RATYINL—T 1600 1460
37 HER=E A—JLRY)—> = 1 RATYIIN—T 1600 1460
38 FERIBE h—Tv AyiaftE LY 1 |AREZE 4000 2350
39 i A—JLRY)—> = 2 |RATYIN—T 1000 1460
40 A—I)LRY)—> = 2 (RATVIN—T 1200 1460
41 HEEEE h—Tv FL—7 = 2 |kERAE 1730 1800
42 h—T> L—X = 2 |RABEAE 1730 1800
43 h—Tv FL—7 = 2 |AERAE 1200 2600
44 h—T> L—X = 2 |RABEAE 1200 2600
45 NEBE= A—JLRY)—> = 3 |RATVINL—T 600 1460




A BEEZAR— LY Z—R—MNRIE h—TUERIERE

NO HEIHAT B op & EATEK FARAIR1E H X W(cm) e
46 |RCHH2. 3P FHEIEIEE =T FL—7 = 8 |(@ERE 3000 x 1800
47 h—T> L—X = 8 |mfE 3000 x 1800
48 NEBE=E A—JLRY)—> = 12 |RATYIIL—T 600 X 1460
49 |RCHHARE  REE h—Tv i) = 1 MmBAE 4400 X 1660
50 h—T> L—X = 1 mmRE 4400 X 1660
51 h—Tv %) = 1 MmBAE 6500 X 1660
52 h—T> L—X = 1 mRE 6500 X 1660
53 h—Tv i) = 1 MmBAE 4800 X 1660
54 h—T> L—X = 1 mRE 4800 X 1660
55 F{R-#H3L-EREE A 1
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